Pacific Channel Bracket we
(Set of 3) - 19mm - SAA

Product Code (U-Bracket): 10504-19MM-SAA
Product Code (L-Bracket): 10505-1I9MM-SAA

AAZTEC

WASHROOMS

]

NO8
TM5
“NO8

elol0)

P

.
O

No.8x2"\v "

SCREWS
1X12-13 M5 X 10 TAPTITE SCREW

2 X 17-2Imm No8 X 19mm CSK SCREWS )‘CSK T-NUT

12-13mm M6 X 14 SKT CSK SCREW
17-2Imm M6 X 20 SKT CSK SCREW

1. Mark off the centreline position on the wall.

2. Determine the position of the brackets on the centreline and mark the two hole positions per
bracket.

3. Drill the holes @5.5 to a minimum depth of 50mm.

4.Insert the six 32mm plastic plugs into the holes.

5. Secure the brackets to the wall plugs using the No.8 x 2" screws provided.

6. Repeat step one on the fascia panel.

7. Determine the position of the brackets on the fascia and mark off the six hole positions.
8.Use a @5.5 drill to drill the six holes 10mm deep accurately.

9. Secure the brackets to the fascia with the M5 taptite screws.

10. Set the partition into the wall brackets ensuring the height and level are correct.

11. Drill through the pre-drilled brackets using a @ 9mm drill.

12. Secure the panel to the brackets using the CSK T-nuts and M6 CSK screws provided as shown
above.

13. Repeat steps 10-12 for the fascia panel fitting to the partition.

WWwWWw.aaztec.com




